
Bilaga 4 Beräkning av årlig avgäld 

 

Fastighet Friköpspris Avgäldsränta  Årlig avgäld 

SICKLAÖN 18:30 826 500 kr x 0,5 x 0,03 = 24 795 kr 

SICKLAÖN 19:10 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:11 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:15 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:16 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:17 888 000 kr x 0,5 x 0,03 = 26 640 kr 

SICKLAÖN 19:18 923 500 kr x 0,5 x 0,03 = 27 705 kr 

SICKLAÖN 19:19 920 500 kr x 0,5 x 0,03 = 27 615 kr 

SICKLAÖN 19:20 920 500 kr x 0,5 x 0,03 = 27 615 kr 

SICKLAÖN 19:21 920 500 kr x 0,5 x 0,03 = 27 615 kr 

SICKLAÖN 19:22 920 500 kr x 0,5 x 0,03 = 27 615 kr 

SICKLAÖN 19:23 923 500 kr x 0,5 x 0,03 = 27 705 kr 

SICKLAÖN 19:24 943 500 kr x 0,5 x 0,03 = 28 305 kr 

SICKLAÖN 19:25 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:26 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:27 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:28 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:29 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:30 940 500 kr x 0,5 x 0,03 = 28 215 kr 

SICKLAÖN 19:31 943 500 kr x 0,5 x 0,03 = 28 305 kr 

SICKLAÖN 19:32 948 000 kr x 0,5 x 0,03 = 28 449 kr 

SICKLAÖN 19:33 945 000 kr x 0,5 x 0,03 = 28 350 kr 

SICKLAÖN 19:37 1 005 000 kr x 0,5 x 0,03 = 30 150 kr 

SICKLAÖN 19:38 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:39 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:42 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:45 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:47 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:48 1 000 500 kr x 0,5 x 0,03 = 30 015 kr 

SICKLAÖN 19:49 1 005 000 kr x 0,5 x 0,03 = 30 150 kr 

SICKLAÖN 19:6 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:7 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 19:9 883 500 kr x 0,5 x 0,03 = 26 505 kr 

SICKLAÖN 20:12 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:13 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:15 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:16 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:18 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:19 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:20 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:22 900 500 kr x 0,5 x 0,03 = 27 015 kr 

SICKLAÖN 20:23 900 500 kr x 0,5 x 0,03 = 27 015 kr 



SICKLAÖN 20:24 903 500 kr x 0,5 x 0,03 = 27 105 kr 

SICKLAÖN 20:5 928 000 kr x 0,5 x 0,03 = 27 840 kr 

SICKLAÖN 20:6 925 000 kr x 0,5 x 0,03 = 27 750 kr 

SICKLAÖN 20:8 925 000 kr x 0,5 x 0,03 = 27 750 kr 

 


